Paper-Maker Monika Awasthi
Directions (1-5): &I TE SMHIA F LATIEH TeAAT FL X H9 RT TT w0 F A

fere-

qMS ATH TH AS-HioAT TART H @ 3, oaH qaa @f dedr 1 s ofid #foa &
dear 8 8. T auft =it uw et H 9 F W UF W H AN A9 §. T AW H
Tt =F TH AR TS 6 A0 AT T THE 95 g & SO0 F Fg a7 & A% Jqai+
TE H3 & ATgL Bl AT I .

D et wforer % FUT UF 99 H&AT qreAl Hiver 9% Ygdr g 3T G % I[W | A\ T
T dST g. D ST E & 7exr fid AR Wgd &, E ST D & 970 & gAY #49 9T 927 &. E
F T woe 9¥ o7 =fth H Y #orer & 1 A= wgar € 3T H, C % 30 ¥ d=Y
I 9T ST g. 7 al E 3w 7 &7 D, C &7 fAsheaw w=rt €, C o1 G &t faudia fRem
T A 3@ 8. F it G & wed o9 =Fxe ad ¢ G of E & #fvar & 3w e
AT ATl WSl 9% ¥@al §. B, C & &0 & gAY ©9 W 927 8. E, F i gamw fIer
T AX I@ g AT A & faudig 8. F & dfoe % 3 Fa¢ @ arar A, H &
T H O TIE T 93T g. H i A F 927 Fao &l =A<k @d g, A ST D & A1 98!
o1 2. B, C & #fer % Fa¥ gar 2. G ¥ fAeeaw wgrr vw-gae & BT fRemsi
T AT 3@ 8. H, G # X 3@ ¢ T A & a0 F gL T T 997 2.

Q1. Fwforfad & & &9 =it v 9¥ @ aTa =A<k & (T F 8L T 92 F37 872
(@) E

(b)A

(c)H

(d) G

(e) =7 & T 7
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QTags floor based puzzle

Q2.D & are X ¥ R = w¥, D 3w ofiY #ioer 9% W@ a1 oAh & AT fohae
=fr #5 32

(@) T=

(b) =T

(c) o=

(d) <1

(e) g &
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QTags floor based puzzle



Q3. Fwforfera & & =9 D & 3t& = Tgar 82
(a) ATAAT HISTA 9% Tgd ATAT A T<h

(b) G

(o) F

(d) E % &% T0 TI9 9T F37 ATH

(e) =7H o FIT ol
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Q4.F #T #forer & = foraw =afr @a 87
(a) o=

(b) T

(c) =X

(d)

(e) ai= T =rferw
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QTags floor based puzzle

Q5. A ¥ faux ¥, Fwforfea & & :H-A1 F99 97 82

(@) A, F & &% FUT TEar g

(b) A #liT B & HeX e &l ATh W@d o

(©)G,A F (T & AL &IH 9T 927 §

(d)C F =T | 9L TIF 9T 937 e A & S Ao TE@ar ¢

(e) (a) 3 (d) =T
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Directions (6-10): & TS STAHLT FT &qTYa® AAAT HL AT A= RE T@ = F W
<iforg-

L%M (8)-L,M & 4 Hiex IW< ¥ ¢

L$M (6)-L,M F 3 #Tex feror § ¢

L#M (12)-L,M % 6 Hlex 7@ ¥ g

L&M (10)-L,M % 5 #lex 9few & g

A&B (44), GSE (20), D%H (16), A%C (24), D#C (30), E&F (26), H#G (12).

Q6.A F wigd H, H f1 e feomw & &7
(a) =feror



(b) STZ-Tf%rH

(c) 3T%

(d) =ferr-q

(e) T & Frg T
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Q7.E &iT C & Wex ~gaaw I foha«r g7
(a) 11 Hrex

(b) V31 T

(c) 15 Hex

(d) V85 ex

(e) TTH & FI< LY
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Q8.7 Rz O, A v B #7 wen-fiig 2, a7 E ¥ w=adf § fig O frmr fem # 27
(a) 31X

(b) =feror

(c) Tv-7d

(d) =feror-aferg

(e) TAH T FIS 'Té)f
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Qo.Fig G ¥ w=d &, fig F Py fRom # 27
(a) ST-TfEH

(b) =feror-d

(c) =feror-afars

(d)

(e) T & g 7L
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Q10. TF =afwr g X & =¥ fRem #it X F@=T1 g% Far g &ix 5 Hiex =«ar g,
AT FMC a1 2 X g Y . ug= & forw 8 Hiex =@ar 8. By Y & a8 9 3
FHHEH €T H 0 qSaT g ad1 wAe: 10 Hex, 15 Hiex #ix 2 Hiex =«@aqr g va f6g Z
T TgAdl 2. ¥ X #i¥ Z F Heg FAaH L At 87

(a) 13 HTex

(b) V251 Hex




(c) 25 Hiex

(d) V281 =<

(e) 38 & FIE Tl
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Q11. e15 ‘BREAKING’ & THY, €<, AT ¥ A1q4 a9 & fohad UH o8 a9T0 ST HFhd
g, ToEH ToI® F9 FT ITTNT hadl Tk aTC ol al?

(a) X

(b) =

(o=t

(d) =

(e) FT< T
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Q12. F9 : g @™y "ed 4 A § Aty @y wwar & o s |agraar
N IRET FeA F1 Foir forar g #=ifF o= 39 & e § O 9aRa § s@&reed 9T gSid
=T Fgd FH 7.

AAM: L 96T g5 dgal ARg | &@ree 9T Iid SAh @9 & Hh g8 a6 F@l dadl
g ¥ TH o= I F FET AT THAl g

I 9T H FfhcaT qREgTd Iqase Fil" & o0 JLal gaenier 9T ¥ 9 .
()%=« | Afga g

(b) Fa=r 1ART &

(=T ar 13T lI\fea €

(T ar T g nfAka g

(e) =T 13w 1TAfRT g
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QTags statement and assumption

Q13. I : “WTHIdTw HATIAT F AIT AT &H ATIFH dAH & (0 TheAt aFl 0 STl
ATAT &t FAFTEAT 6 T2 g -TFA | TFH AT,

AAM: L a9 YTEfds |@9redl ¥ 907 2.
IL gl FT 90 ATATELOT F GTF IAhT Sra=1q o Had it TH9ram 2.

(a)Fawr | AT ¢
(b) Faer 1A =T g
(=T ar 13T I Hfea &




()7 ar 17 g AT g

(e) Tl 13 NI fAfET §
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QTags statement and assumption

Directions (14): Agcaq0l Wi & gwrfgqd [Avig a9 #, "A9e@” & ik "0 & *
T AT T T R AT TS . WO T W@ X WY wF ¥ g&te Qe
g ATRT. 'FHSNT & Y T ¥ Gfq Tai gl ghdT g i AT Aged &7 gl qahdl
g AT ¥ F ARCAT Ugel o §ofaa g7 a%ar 2.

Q14. FAT FTATERIT 3T FA STUOT KT FEAT TSATAT o HIAGNL TIEATSH HT Td H kel
JTAT Aal FLA l GATg &f AT ATMgu?

E7

I AT, T AT GEHRE KT 7 q¥g i FeArst & | #39 F SU e AT,

IL gf, U&r "roert &1 Feta #ar gfem fBaamr & oo ofr qiewa 2.

(a) af% Faa TF 1999T ©.

ORIEEEEEESEEE S

(c) == a1 ar @F 131 ar 11 79 2.

(T T ar @ [F a a [ 7949a 2.

(e) af M1 @& 130T 11 719a &.
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Directions (15): ¥19 AT T Y% T ¥ TF FI7 F I & Ay [} 11 Ry 717 .
A AT T FUAT W AT AWAT ©, qA 7 A TS @ A ¥ B owdfiw I OE

Toft et &7 eamgEs segge fifod ok g Ja =Gt i SveT Fa9 ge [
w¢ & fRu T wuet & & F9 o Aot aifes =7 & Ru 10 F990 o1 agaer F=ar

5.

Q15. FIM:  AMAHAAT TAT § JAAFAAT FT FLOT 8. Ty HAHT A OLrearsi H
FAERA A 2.

Ao L adt sewe g At g

IL 74T 7% g g 981 2T 2

(a) T Faer oy [ a0 FaT 2.

(b) afE Fawr AowT 11 AT FAT .




(o) Ff< =T qr My 137 11 TTHLT FaT .
() T qr Ao [T T 2 1 AT F:aT .
(e) e FohT 13T I IAT ATELT Fd 2.
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QTags statement and conclusion

Solutions

Solutions (1-5):

a Fl Per
E 8 A
7 F
6 D
G H |5 H
4 B
3 G
2 E
B D 1 C
F
S1. Ans.(c)
S2. Ans.(b)
S3. Ans.(d)
S4. Ans.(e)
S5. Ans.(a)
Solutions (6-9):
Sol.
A 22m B
12n|1
| E 13m F
C 15m T
LT
G_em_H
S6. Ans.(b)
S7. Ans.(d)
S8. Ans.(c)

S9. Ans.(e)



S10. Ans.(e)

Sol.
15m

LZm

10m|

Y 8m
5m

X

S11. Ans.(c)
Sol. NEAR, EARN

S12.Ans.(e)

Sol. The fact that WHO has extended its assistance to India implies that government
funding here is not adequate. So, II is implicit. Besides, WHO has decided to provide
assistance to health programmes in India keeping in mind the considerably low per-capita
expenditure on health. So, I is also implicit.

S13.Ans.(e)

Sol. The forests shall be visited to increase the knowledge of natural resources. This means
that forests abound in natural resources. So, I is implicit. The children are being taken to
forests to help them learn more practically. So, Il is also implicit.

S14.Ans.(a)
Sol. Instead of giving advice to women, it is necessary for government to take measures to
control such incidents.

S15.Ans. (d)

Sol. The-given statement clearly implies that all irregular and some regular students fail in
the examinations. This, in turn, means that all successful students are regular but not all
regular students are successful. So, neither I nor II follows.



